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full marks for the questions

1. Fill in the blanks with 4 p,propriate' answers
‘given in the bracke ] 1x10=10

(a) Social change can be said to be ...........
term. (Objective/Subjective)

(b) Repetitive petty acts of people are
‘known as ........... . (Habits/Folkways)

(c) The distinction between restitutive and
repressive laws is made by ...l
(Emile PUrkhelm/ Max Weber)

(-1 I t.... does not fall within the
purv1ew of organised crime. (Lottery/
“ Smuggling)
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‘The book “Dehnquent Boys” is written

The concept of Cultural Lag is given by
............. (W E Ogburn/ Sunner)

............. reéject both the existing values

and the legitimate means and works
actively to substitute new values.
(Retreatists/ Rebels)

Innovation is a type of .............
(Deviance/ Conformist)

The term Whito collar crime was first
introduced by ............. (C Lombroso/
Edwin Sutherland)

............. wrote the book Deviance and
Social Control. (David Mande lbaum/
Albert Cohen)

(2x5=10)

Point out two functions of Social
Control.

Two remedial measures of Sociil

Dijsorgen isation. j /
Retreatism as a form of social dewarioe

Write about two types of crime.
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'Education as a means of social control.

' Discuss how various legv‘latxons naire
brought social change in Indian aomety e

12
OR

Discuss cntioo.lly how law as an . -

instrument is used in the society to ‘-
bnng changc.s ' 12

" What is Social Control ? Point out the

functions and types of social control.
© 4+8=12

¥ OR
Discuss in detail -the formal and the

_informal agencies of social control.

" 6+6=12

Define Social Conformity. What are the

' causes of Social Conformity ?

2+10=12
OR

What is Deviance ? What are the types

of deviance ? Discuss the various

factors that facilitate deviance.
2+4+6=12
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6. (1) Discuss the --concept of Social
Disorganisation.. Highlight its
characteristics and suggest remedial
measures to control Social
Disorganisation. T 4+4+4=12

OR

(i) What are the causes of Social

" Disorganisation in Indian Seciety?
Elaborate with examples. ' - 12

7. (i) Define Crime. Discuss in detail the

different types of crime along with
‘appropriate exampies. 2+10=12

OR
(i) What is punishment ? What according
" to you is the most suitable theory of

punishment in contemporary Indian
Society ? . 4+8=12
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